0=FFR L ZDEIE (0a=FiL & BED D & HIWT L 7= 57)

1= 1 7 —~ LBET 5545 (la, 1b, le=% Z 0B RIET D5
=92 T —~ LHET 554 QalIZTDFE, 2b, 2c XTF DB
B3 5H57)

3= 3 T —~ 2 DEL

A=H& T 5

BARMICIX

0-1 728 (1~7 /INEi)

-1 17 —~D 1A (8~22 /i)
12817 —~D 2 A (23~37 /i)

la-2 55 1 7—~DOZE (37~45 /NEi)

1b-2 55 1 7 —~ DI’ (46~57 /M)

13817 —~?D3HE (58~71 /i)

lc-3 5 1 7 —~D%E (71~80 /INEi)

2a-0 %5 2 7T —~ D (80~84 /INFH)

-1 27 —~DO 1HE (84~92 /NHi)

2282 T —~D2WA (92~99 /NEi)

31537 —~ (F_7—~DEELLE 2D ?2100~111 /Hi)
323 T —~DFX (FE T —~DERELEHEZDH 2 112~121 /1)
0a-3 PR LHE 1 7T —~ L BRH DE 0 (121~128 /1NHi)
0-2 FFRDZEFE (129-134 /1NHi)

1-4%17—~D4HHE (EWETHEDS. 135~151 /NG
15581 7—~D5#HE (152~168 /M)

23F 27 —~D3HEA (169~177 /NHii)

-4 27 —~D 4B (177186 /INHi)

2b-4 552 T—~D3E (186~202 /i)

204 B2 T —~DORBEOFE D LHE (201~210 /)NE)

4 ¥ THE (211~239)



